UČNI LIST 36 (M.Pertot)
1. IZRAČUNAJ!
	60 – 50 + 10 =
	70  - 50 + 10 =

	60 – 50 + 20 =
	70 – 50 + 20 =

	60 – 50 + 30 =
	70 – 50 + 30 =

	60 – 50 + 40 =
	70 – 50 + 40 =

	60 – 50 + 50 =
	70 – 50 + 50 =

	60 – 50 + 60 =
	70 – 50 + 60 =

	60 – 50 + 70 =
	70 – 50 + 70 =

	60 – 50 + 80 =
	70 – 50 + 80 =

	60 – 50 + 90 =
	




2. IZRAČUNAJ!
	70 – 50 + 20 =
	60 – 50 + 30 =

	60 – 50 + 60 =
	70 – 50 + 50 =

	70 – 50 + 40 =
	60 – 50 + 50 =

	60 – 50 + 20 =
	70 – 50 + 30 =

	70 – 50 + 70 =
	70 – 50 + 80 =

	60 – 50 + 40 =
	60 – 50 + 10 =

	60 – 50 + 80 =
	60 – 50 + 70 =

	70  - 50 + 10 =
	70 – 50 + 60 =

	60 – 50 + 90 =
	60 – 40 + 50 =



UČNI LIST 37 (M.Pertot)
1. IZRAČUNAJ!
	70 – 50 + 10 =
	80  - 50 + 10 =

	70 – 50 + 20 =
	80 – 50 + 20 =

	70 – 50 + 30 =
	80 – 50 + 30 =

	70 – 50 + 40 =
	80 – 50 + 40 =

	70 – 50 + 50 =
	80 – 50 + 50 =

	70 – 50 + 60 =
	80 – 50 + 60 =

	70 – 50 + 70 =
	80 – 50 + 70 =

	70 – 50 + 80 =
	





2. IZRAČUNAJ!
	80 – 50 + 60 =
	70 – 50 + 50 =

	70 – 50 + 20 =
	80  - 50 + 10 =

	80 – 50 + 40 =
	70 – 50 + 30 =

	70 – 50 + 60 =
	80 – 50 + 20 =

	80 – 50 + 30 =
	70 – 50 + 70 =

	70 – 50 + 40 =
	70 – 50 + 80 =

	80 – 50 + 50 =
	80 – 50 + 70 =

	70 – 50 + 10 =
	

	
	

	
	




UČNI LIST 39 (M.Pertot)
1. IZRAČUNAJ!
	90 – 50 + 10 =
	100  - 50 + 10 =

	90 – 50 + 20 =
	100 – 50 + 20 =

	90 – 50 + 30 =
	100 – 50 + 30 =

	90 – 50 + 40 =
	100 – 50 + 40 =

	90 – 50 + 50 =
	100 – 50 + 50 =

	90 – 50 + 60 =
	

	
	

	
	




2. Številu 30 prištej razliko števil 90 in 40. Koliko dobiš?
Račun : __________________________________________________
Odgovor : Dobim _____.

3. IZRAČUNAJ!
	
	

	100 – 50 + 50 =
	90 – 50 + 40 =

	90 – 50 + 60 =
	100  - 50 + 10 =

	90 – 50 + 30 =
	100 – 50 + 40 =

	100 – 50 + 30 =
	90 – 50 + 20 =

	90 – 50 + 50 =
	90 – 50 + 10 =

	100 – 50 + 20 =
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